g JEE | NEET | 8th, 9th, 10th

ACADEMY CA-Foundation | Commerce

Enhancing ability to learn & Express

NEET 2023
QUESTION PAPER WITH ANSWER
( EXPECTED)
CODE H6 HINDI+ENGLISH

DROPPERS’ BATCH (Eiua o) for NEET & JEE
Batch Date: 15t May, 12t June 2023

PAGE - 1

MISSION HOSPITAL ROAD, BILASPUR Qs 9630588100, 9893783828



[ ?‘f"""“-‘ Section- A (Q. No. 151 1o I8S) ,
151 WHhich ane of the follow g technigues does not
SOOVe the puirpose of early dingnosis of n discase
tOor ity carly treatmem
4 (Y Palvmerase Chain Reaction (PCR)
techmigue
al
(D Bozyme Linked Iimmuno-Sorbent Assny
(HELISA)Y technique
() Recombinant DNA lTechnolopy

1) Serum and Urine analysis

> J I
IS2  Given below are twao statemoents:
A\lul‘vnn‘nl L Vas deterens receives a duet from
semmal vesicle and opens into urethea as the

ciaculatory duet.
The cavity of the cervix is ealled

Statement 1
v along with vagina forms

cervical canal whicl
birth canal.

3 In the light of the above statements, choosce the
correct answer from the options given below:
(1)  Statement 1 is correct but Statement 11 is

talse.

Statement 1 incorrect but Statement I is

true.
Both Statement I and Statement II are

true.
Both Statement I and Statement II are

false.

153 Match List I with List II.
List 1 List II

A. Zaenia I. Nephridia

B. Paramoecium II.  Contractile vacuole

C. Periplaneta III. Flame cells

D. Pheretima IV. Urecose gland

Choose the correct answer from the options give

below:
(1) A-llL, B-1I, C-1V, D-I

(2) A-Il, B-I, C-1V, D-1II 1
(3) A-I, B-II, C-1II, D-IV

(4) A-L, B-1I, C-1V, D-1II

154 Which one of the following common sexually
transmitted diseases is completely curable when

detected early and treated properly?
(2) HIV Infection

(1) Hepatitis-B
(4) Gonorrhoea

(3) Genital herpes
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frer frepedl @ W& S BT TAT B
(1) A-III, B-II, C-1V, D-1
(2) A-II, B-1, C-1V, D-1II
(3) A-l, B-lI, C-11I, D-1V
(4) A-1, B-lI, C-1V, D-11I
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Given below are two Statemeny:
as Assertion A and (e ulhc.
R‘\n_\*()ll R.
:\ssﬂ-niion. At f\mnim‘cnlmis for
dcu‘,-mnm}lmn 18 one of the Nil'l\l‘(“" \ M‘\'
Reproductive and Chilg Health Cypeo |\,~:t‘“ i
Reason R: Ban on nmninconloxi:,‘I“lmj"';\vj
increasihy menace of' female footiide .
In the light of the above v
correct answer from the Options given below:
(1) Astrue but R i false, . R
(2) A is false but R i true, 2
(3) Both Aand R ape
explanation of A,
(4) Both Aand R are trye gng R is NOT the
correct explanation of A.

one is labelled
s Tabelled g

Satements, choose the

true and R g the correct

Given below are two Statements:

Sran:n:ient I: l‘n prokaryotes, the positively

charge DNA.x is. held with some negatively

charged proteins in a region called nucleoid.

Statement II:. In eukaryotes, the negatively

charged D_NA IS Wrapped around the positively

charged histone octamer to form nucleosome.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Statement I is correct but Statement II is
false.

(2) Statement I incorrect but Statement 1I is
true.

(3) Both Statement I and Statement II are
true.

(4)  Both Statement I and Statement II are
false.

Match List I with List I
List I List IT

A. Heroin I. - Effect on

' cardiovascular system

II. Slow down body function

III. Painkiller

IV. Interfere with transport of
dopamine

Choose the correct answer from the options

given below:

(1) A-1V, B-llI, C-1I, D-1

(2) A-IL B-lV, C-I, D-II 3

(3) A-l, B-L, C-1V, D-lI

4) A-lL B-1I, C-1II, D-IV

B. Marijuana
C. Cocaine
D. Morphine
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AN D mar friy o ¥ o sfrwas A R g wT

IR

i A g (i oo & Pro qesvien arr od arE

Wi Aupye wodmn Ay um gfer ¥

wIen Ry aeqdepey e ufrdn wgd g ey B

& wigey wy Omar ¥

awifa wuay ¥ wentar H, A feey me Prasdd 0 A

s g @ au &)

(1) A war ¥ afsr R o ¥y

(2) A awa ¥ afwt R ger ¥

(3) Aud R vt aea ¥ ud R, A & wht e B

(4) Aud RaFW ud ¥ ud R, A £} aé aave T£f
¥

M wua kg 0 E

w1 WRafes ¥ wAers anafra oA 39
ToEE AR WA % 1T dust uw e
HsbT Hed &, § @A &l

T 11: gHRER) & Foners amafid Sy g s
smafir R o & Tl 3T foavest FiFaa
EEIGIES

SufE wol & webial ¥, 9 Ry e fawedi § & w4
I B T HUI

(1) =47 I 9 ¢ «feT &= I 39 31

Q) w47 1 @d ¥ AfeT w11 99 T

(3) i wyw I wd 11 99 ¥

(4) A Fw 1 wE 1 o gl

TR I & T 1 & "y gafea a1
@ 1 T 1

A, s I & Sifes @ W 99"
B. aftgam . R & vl &t
- WM owTn
C. & 1. =dfars
D. H%H V. S\ & afass ¥ awn

T g o ferat ¥ A W@ SO @ T AL

(1) A-1V, B-lI, <-l, D-1

(2) A-lIL, B-1V, C-1, D:II
(3) A-II, B-1, C-1V, D-lII
(4) A-l, B-11, C-111, D-1V
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CHiven below are twa statements: one Is Janbelled

1AN
av Assertion A and the other s labelled ox
Reason R,
Assertion A Pndomettinm ix necessary for
miplantation of’ hlastoey st
Reavon Ri In the absence of fertilization, the
corpus luteum  depenerates  that  conses
disintegration of endometrium,
In the light of the above statements, choose the
cCorrect answer fiom the options given below:
(1) A s true but R s false.
(D) A is false but R s true, 3
(3)  Both A and R are true and R is the correct
explanation of’ A,
() Both A and R are true but R is NOT the
correct explanation of” A,
IS9  Select the correct group/set of Australian
Marsupials exhibiting adaptive radiation.
4 (1) Mole, Flying squirrel, Tasmanian tiger cat
(2) Lemur, Anteater, Wolf
(3) Tasmanian wolf, Bobcat, Marsupial mole
(4) Numbat, Spotted cuscus, Flying phalanger
160  Which of the following statements is correct?
(1) Presence of large amount of nutrients in
water restricts *‘Algal Bloom’
(2) Algal Bloom dccreases fish mortality
4 (3) Eutrophication refers to increase in
domestic sewage and waste water in lakes.
(4) Biomagnification refers to increase in
concentration of the toxicant at successive
trophic levels.
161 Which of the following are NOT considered as
the part of endomembrane system?
A. Mitochondria
B. Endoplasmic Reticulum
C. Chloroplasts
4 D. Golgi complex
E. Peroxisomes :
Choose the most appropriate answer from the
options given below:
(1) Aand Donly (2) A, DandE only
(3) Band Donly (4) A, C and E only
162 Which of the following is not a cloning vector?
(1) pBR322 (2) Probe
2 (3) BAC “4) YAC
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aferer et w1 au W

(1) Auu? afr R araer %1
(2) A aud ¥y afwr R aed ¥ |
3) AudR apit wed ¥ ud Ry, A ARCIAL ey .
(4) Aud Raw U ¥ ud R, A & UE axmegy "

B

159 orgged fafeon feard ardy refaar fagary 5

why aye/de & auT cadl

(1) i, sga firasd, qEhTaTd TETR 2
(2) @, 9@, afgar
qunfraré Ay, dake, frgar @

3)
(4) e, AT BT, EERELIESEY

160 ﬁmﬁﬂaﬁwm’mmvﬁ%l

) STeT & BTy AT A YOkl BT BT YA Ty

@Y bl T
2) ﬂam,ugnﬂnwﬁm’faﬁqﬁ%ﬁm%,
3) ma@aw@ﬁﬁﬁaﬁawém

o ST Sl
“@) S s T Ga it TrHuT WY U STy

o wigar ¥ ghg H AW L

161 P ¥ @ ol A @ AT T A W

¥?

A. GTIBRTR

B. giadelt sfe

C. TR

D. Ticelr afag

E. gleiam ,

et febedl & W@ S IEX BT A BN
(1) ¥aTATED (2) *ad A, DT E

" (3) dIM BT D (4) %A A, CTE

162 Pt & ¥ 2 FReT daes T8 TP

(2) W

(1) pBR322
' (4) YAC

(3) BAC
- [ Contd...



163 Which of (he Tollow
regarding femalg

A. In NON-primgye
dl.ll‘illg eprodye

B. ?’n‘st nenstry

18 called g,

C.  Lack of mey

ing Statey
Productiye eyele?
l‘nummnls L\ y
tion g C(l“t;(
al eyele beging
0paugg, l

Struatjg
pregnancy, O may 4y indicative of
D. Cyeclic
. ) menstryng;
menarche Lstruation extends be
- arche apg Menopayg St il
hoose t st an g
< e tl}e most APPropringe
Options given el

(1) A, Band ¢ 0\,\,1

(2) A, Candp onlif' 2
B3) Aand D only

4) Aand B only

164 Match List I with 4
Hr 1st II.

i List I1
B: = Wave L. Beginning of systole
3 ve Il Repolarisation of

: ventricles
C. QRS complex III.

D. T - wave IV. Depolarisation of

ventricles

Choose the correct answer from the options

given below:

(1) A-II, B-1V, C-I, D-I1I
(2) A-L B-II, C-I1I, D-IV
(3) A-III, B-I, C-IV, D-II
(4) A-1V, B-11I, C-II, D-1

165 Match List I with List II.

List I List IT.
(Interacting species) (Name of Interaction)
A. ALeopardanda . I. Competition
3 Lion in a forest/grassland :
B. A Cuckoo laying II. Brood
egg in a Crow’s nest “parasitism

C. Fungi and root of a higher III. Mutualism

plant in Mycorrtizae
D. A cattle egret and-
a Cattle in a field

Choose the correct answer from the options

given below: -
(1) AL, B-IV, C-I, D-II
@) A-Il, B-II, C-L, D-IV
(3) A-L B-IL CIL D-IV
(4) A, B-IL C-IV, D-III
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Loestryg cycle,
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answer from the

Depolarisation of atria

IV. Commensalism
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B uny g am ey o 18 dran ¥ fir
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C. Hegura -H'l"(f”lf?l e oy qam ¥y

. iy wmgaen vitviha i ot am man b

WA S ap fergnil 1 it Tean Aoen ere my o

(1) &aa A, 13 ud C

(2) @am A, Cud D

(3) waa Amd D

(4) wam A vd [

'{ﬁ] I 1 Tj‘ﬁ I % ma ‘iﬁf”’ﬁ Exf

i T
Ay P T . gaF & Ariy
B. Q- aiw 1. fremat zr agam
C. QRS @ity NI afeft z fagam
D. T -atn V. fremt = fagaw

A feu o Rmed § A wA T @ 999 S
(1) A-iL, B-1V, C-1, D-I1I
2) A-l, B-II, C-llI, D-1V
(3) A-ll, B-I, C-1V, D-II
(4) A-1V, B-Iil, C-1], D-1

wh 1% o 1 & @ gt B4

o 1 T 11
(o sriTGE) (eriratEa F1 )
A. T aHEE F AR A L
e 8T 9T
B. WygWHME Il 5 ew
dige ¥ o I ¥
C. TEERTEel ¥ waw wd Il wEwwE
D. U aR ug-ayen w1V, s
ad ® Ui 9y

A Ru o frwed ¥ A 7@ T B TG FA
(1) A-lIL, B-1V, C-1, D-II
(2) A-ll, B-1I, C-1, D-IV
(3) A-l, B-Il, C-lII, D-IV
(4) A-l, B-Il, C-1V, D11l
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168 Radial symmetry is NOT found in adults of

4

169

LTS
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1 1 Y
VIV Relow mre g sEntementy
Pvtein e dmagiinead an oa line,

.\‘uup"....,' 1 A
st amino acid

the 1en o fopirveented by
Ui minaly and the vipht vl repiosented Dy

LR“ AMINY acid (Naviminal)
Strtement 1 Aaan human hacmoglobin,
S}

SNSRI O 9 cubunits (wo subunits of a 1ype

and tway subiinits of IV wpe)

In the HEht Of the abor © statements, choose the
ﬁ"_“‘:. ANSWCr fom the options piven below:
\,l : ’\‘I:chwm Lis true but Statement 1 is false.
AS ) Statoment 1 iy false but Statement 11 is true.
(3)  Both statement 1 and Statement 11 are true.
(4) Both Statement I and Statement 1 are false.

(\'“'C" below are two statements:
Statement I: RNA mutates at a faster rate.
Statement 11: Viruses having RNA genome and
shorter life Span mutate and evolve faster.

In the light of the above statements, choose the

€orrect answer from the options given below:
ent I is true but Statement II is

(1) Statem
false.

(3) Statement I false but Statement II is true.

(3) Both Statement I and Statement II ar
true. ) . ’

(4) Both Statement I and Statement IT are
false.

phylum B
(1) Coelenterata

(3) Ctenophora

(2) Echinodermata
(4) Hemichordata

Given below are statements: one is labelled as
Assertion A and the other is labelled as

Reason R.
Assertion A: Nephrons are of two types: Cortical

& Juxta medullary, based on their relative

position in cortex and medulla.
Reason R: Juxta medullary nephrons have short
loop of Henle whereas, cortical nephrons have

longer loop of Henle.
In the light of the above statements, choose the

correct answer from the options given below:
(1) A is true but R is false.

(2) A is false but R is true.
Both A and R are true and R is the correct

explanation of A.
Both A and R are true but R is NOT the

correct explanation of A.

4
38

H6_Hindi+English ]

166

167

168

169

an N it ¥
u)h"’ PARE Sl MG S )r" P "
UL '"'ﬁ’" Wray (’h f,""} 'y,"
e (e f’fl” "'Yafq "')-‘ |
oy
gy " §

fa
- 1 T
gt Al perse
¥ - wrf vt )

sy Averenfaon i

fi Al

"
H l'l ant
e i ads UL VR P . %

o fn 5 Y Ry
@ ay WA fx0 Pramy ™
Q

U
o w1
x‘:lvll rat w0 Afier waa I]

{ .- I wed 2 © ] " ‘"l!ﬂ‘ ”

(':)) - I araed [ l)fa.&l ";’t;' I ey ).'
2 "’Y A 1 1{([ I aeqx 7

%)) ;'ﬁ g 1 vd 11 srae &y

4)

ml v

- fa(] ny ?,‘ .
o il Ul . = f
et 1z ST amanga g 7T f Setfrats, .

& [ ¥ ey
1: oA ST O B2 G gy

e e et v ¥,
mﬁ%mswﬁ,%faﬂmm

1 T HA
?g?mlw%ﬁﬁﬁaimllmh
(2) wua 1 o & WET T g 3
P aﬁfa,-quqe.rllﬂw%l
“ St o 1 ge I 3 &)
fpa @a % aawst A ST AN T oy

(2) THEAET
(4) TieEg

@ et A T ¥ OB AFE AR g o

R g1

sfiEpe Az GHBTY SR TGT T wemiy §
ﬁuﬁr%mmw‘ca‘rw%aﬁ%ia@mw
uq qif=req HEdien ganr |

FRor R: @ifTea TEist JaRprgeh ¥ 39 wiyr gy
e ¥ STafp T JABTe ¥ sTienga w3 i
qior gar &1 s

Iugad waelt & g W, TR e 1w few §
Sfya ST) @ 99T HU|

(1) AT ¥ AfeT R o 31

(2) A o™ ¥ WfeT R @7 #1
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nce the undigested and unabsorle

A : d substances
nter the caecum, their back flow is preve,. nces
Zl) Gastro - oesophageal Sphilm‘l;lru_\Lnlcd by-
@) Pyloric sphincter
3) Sphincter of Oddi
@) Ileo - caecal valve
Match List I with List 11.

LlSt’I LiSt l[
. CCK - Kidney.
B. ,Gng . Heart
C. II.  Gastric land
p. ADH Iv: Pancreasg

Choose the correct
given below:

(1) A-lL, B-1V, C-I, D-lII
(2) A-1V, B, C-111, D-1
(3) A-V, B, C-J1, D-I
4) A-LL, B-II, C-IV, D-I

answer from the options

Broad palm with single pafm E oaciis v
a person suffering from- ] se is visible in
(1) Klinefelter’s syndrome
(2) Thalassemia

(3) Down’s syndrome 3
(4) Turner’s syndrome '
Match List T with List II.
L%st L List II
A. R}ngworm 1. Haemophilus influenzae
.B. Filariasis II.  Trichophyton
C. Malaria . Wuchereria bancrofti
D. Pneumonia IV. Plasmodium vivax

Choose the correct answer from the options
given below:

(1) A-IL B-II, C-1, DIV

(2) A-1, B-IL, C-1V, D-1 3

(3) A-II, B-III, C-IV, D-I

4) A-II, B-III, C-I, D-IV

Given below are two statements:

Statement I: Ligaments are dense irregular

tissue. ' =

Statement II: Cartilage is dense regular tissue.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Statement I is true but Statement II is
false. ‘

(2) Statement I is false but Statement II is

3)

true.
Both Statement I and Statement II are
)

true. .
Both Statement I and Statement II are

false.
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foger ety & 4AdT H

wg arufir v arnas

¥ wa wae wiare w0 Qs S (4

(1) et ~ ufuwmr o1 audr

(2) urgafe sreardel

(3)" aNdr srEdu

(4) sy — qoa 9

o 1 h 1 % g gife a
-(@ 1 '(ffl 11

A. drdrs I 9%

B. Eﬁaﬂgﬁ’[ II. %da

C.' TTAU% III. <1 1ifyg

D. wdu™ Iv. &m=ais
ﬂaﬁqwmﬁﬁ%uﬁwmmﬁl
(1) A-I, B-1V, C-1, D-III

@) A-1V, B-II, C-III, DI

(3) * A-1V, B-IIL, C-II, D-1

(4) A-IIL, B-II, C-IV, D-I

Wﬁ%ﬁﬁﬁaﬁqmmm%muﬁagi’rﬁr
@ W E P _ :

(1) wETheet fgH
2) It
(3) =ea figH
4) =i fagm
ﬂ;ﬂlﬁ@llaﬁwzgﬁrﬁmwﬁl

i 1 T 10
A, foma 1L Eifeed SYggl
B. wrEanRead II. -~ gZrEwlwrseld
C. wafn . geRRar dwiwers
D. fmfman V. w9y asdsd

ﬁ%mwﬁmﬁﬁ@raﬁwmwwm
(1) A-I, B-II, C-I, D-IV
(2) AL B-1I, C-1V, D-1
(3) A-II, B-lII, C-1V, D-I
(4) ~ A-11, B-III, C-I, D-1V

I & wuw R ¥

o I: w1y quA afafa S 2

o 11: Iae @e PrfE s §)

s et % sy § MY Ry T e @ @
IO Bl T HAU|

(1) = I ¥ aftes w11 ot ¥

(2) w1 ora ¥ AfeT w11 | 2

©(3) o w1 wd I §A E)

(4) A w1 gd 1 o %‘l
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175  Match List I with List I1.

List 1 List 11
A, Gene ‘a’ 1. B-galactosidase A, ot @
B. Gene 'y . Transacetylase ' s
C. G’;::: l‘ lllll l’é:ll;::lcs:) 19es B. she ard 1. zraoeeds
V. chrcss()r protein C. s e i ;
D. = <SS’ IV. & wém

D. Gene ‘2°
Choose the correct answer from the options

N R g Rreedl & & W8 ST BT T97 3y,
(1) A-1II, B-1V, C-I, D-II
(2) A-lll, B-1, C-1V, D-1I

A-ll, B-1, C-1V, D-II

(€))
- (4)  A-IlL, B-l1I, C-1V, D-I

given below:
(1) A-ll, B-1V, C-1, D-I1 :

(2) A-lIL B-1, C-1V, D-11 4

(3) A-Il, B-1, C-1V, D-III

4) A-l, B-III, C-1V, D-I

176 Given below are two statements:

Statement I: Electrostatic precipitator is most
widely used in thermal power plant.
Statement II: Electrostatic precipitator in
thermal power plant removes ionising radiations
In the light of the above statements, choose the
most appropriafe answer from the options given

176 < | wyd Rg g ¥ -
o I: dga oradife ara frga @9 ¥ = vy g
SygRT A @ oar 810
Fu I1: a9 faga dd9= A A A s
fafepzor @& ge@r ¥
ST HUAT b Wl A A & T fqamedt F § wy

1
below:
(1) Statement I is correct but Statement II is IAT BT a9 B
incorrect. (1) T I 9 ¥ e wua II 318 31
2) (:S;f::(::ent I incorrect but Statement II is. (2) = I ora % afpT zs:eF{ I a3 1
(3) Both Statement I and Statement II are 3 E'Fﬁ Fe 1 Qa s %l.‘
correct, ' (4) A wuw I o 1T o6 T
(4) Both Statement I and Statement II are '
incorrect. 177 =G A % ey F gE@ 1 & g I & a1 gafeg
’ Exy!
177 Match List I with List IT with respect to human o I T 11
e ' . A. wiferr L 3 & d@s 9 i
List I List IT - 3
A. Fovea I.  Visible coloured portion i) iU & A B
of eye that regulates frfya e 31
diameter of pupil. B. emsfE I S & S8 9id Wi 9
B. Iris II. External layer of eye garh Sa® @ a9
. formed of dense T
ST g9g &I Al

c.' atgfig 1.
ferde @1 fag)
forg et & g® —

connective tissue.
III. Point of greatest visual

C. Blind spot
, acuity or resolution. ‘
D. Sclera IV. Point where optic nerve D. @@ V.
- leaves the eyeball and s @ BiEdl &
photoreceptor cells o el waer Y
are absent. - - . :
Choose the correct answer from the options e HITHTY mﬁ%'
N R o Rrpedl ¥ 78 X B TFT B

(1) A-I, B-1V, C-IIlI, D-II

given below:
A-1I, B-1, C-11I, D-1V

(1) A-L, B-IV, C-III, D-II

(%) AL, B, C-III, DIV 3 €9

() A, BI, C1v, DoO (3) A-IIL B-I, C-1V, D-II
- (4) A-1V, B-III, C-1I, D-I

(4) Ay, B, C-11, D-I
[ Contd...
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178

179

180

181

whie
In . \.h blood corpuscles .
replication and produce S, the HIV

(1) Basophils

undérgoc%
S pr i ~
: progeny viruses?

() Bosinophils

(3) Tyeells 3
(#  B-lymphoeytes

Which of the fi i

h_\' C_\Tosk;:;\:l?lg::\:;"liltl“l)mc‘ions
(1) Motility ‘

(2) Transportation

3) Nuclear division 1

(4) Protein synthesis

is carried out

s iven below are two statements:
tatement I: Low .
: ; te
enzyme in a ten "mperature preserves the
ey temperaturlgogantly inactive state whereas
g ~ . estroys enzymatic activi

because proteins are denatured )tl)y heat ol
f:;ﬁg;entt}] II: When‘ the inhibitor closely
e h?[s)‘ e substra.te.m its molecular structure

inhibits the activity of the enzyme, it is
known as competitive inhibitor.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is true but Statement II is
false.
Statement I is false but Statement II is
true.
Both Statement I and Statemen
true.
Both Statement I and State

false.

2
t II are

ment II are

Match List I with List IL

List I List II
A. Vasectomy [ Oral method
B. Coitus ' [I. Barrier method
interruptus
C. Cervical caps 1. Surgical method
D. Saheli V. Natural method
from the options

Choose the correct answer

given below:
(1 AL B-11I, c-1, DIV

@) AV, B-IL CL D-11I
(3) A-IL BL c-1v, D-II
@4) AL BTV, c-11, D-1

{indi+English |
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178

179

180

181

At A g wlorrel i muendd uftga w Y
ah xlaRe Preoy et e 7
(1) Aty ¥ (2) ganfuitet o
@3) Tyl ¥ (4) B-ardery .
()
el ) < @ A # e 7

fopa e & 7

) "R
(2) uftEed
(3) e RaeT
(4) S KT

2

()
$ & e ™ ¥
o 1 et e o 1 ot w9 & B
araren H g T 3| rafp ed A GO
a?rﬁmsﬁﬁmaﬁwaﬂém%tw‘lﬁmém
firga & W %‘| .
*“"II%%WMWH?HW&WW
@‘WWT@W%WW?I%W%W&W
wmm%asémmmm%n
Wéﬁ%mwﬁ%mwﬁmaaﬁ
w1 = B
(1) wAd 3 At e 11 o B
) m(:-rrl} s & e A 1 ad ¥
() @i o 1 ILw ¥
2 e 1 T

L) .
qar | gt 1 ¥ @rg gAted HU

-l T 1

A ghmwedm L T e faf
B, el dae 1 e R
c. g et ad 1L Sreatsan faf
D. @i v, Wit fat
ﬁm:;*wﬁﬁwwmmmwm
(1) A-L,B-L CL D-IV
@ AlvgB-L G DAl
3) Adily Bl C1V; D-II
@ A4l BV, CIL DI

[ Contd...



182

183

184

185

Match List T with List 11
List 1 List 1
(Cells) (Secretion)
A. Peptic cells 1. Mucus
B. Goblet cells 1. Bile juice
C. Oxyntic cells 1. Proenzyme pepsinogen
D. Hepatic cells IV, HCland intrinsic factor
for absorption of
vitamin B,
Qhoosc the correet answer from the optfons
aiven below:
(1) A-l1l, B, C-1V, D-II
(2) Al BV, C-1, D-llI
(3) ALV, B-lI, C-I, D-1
4 AL, B-L, C-llI, DIV .
Which one of the following symbols represents
mating between relatives in human pedigree
analysis?
4
0] I o B .‘
©0—0 ®[—0
Vital capacity of lung is
(I) IRV+ERV+TV-RV
(2) IRV+ERV+TV
(3) IRV+ERV 2
(4) IRV +ERV+TV+RV
Match List I with List II.
List I List I
(Type of Joint) (Found between)
A. Cartilaginous 1. Between flat
Joint skull bones
B. Ball and Il.  Between adjacent
Socket Joint vertebrae in
vertebral column
C. Fibrous Joint Il Between carpal
' and metacarpal of
thumb
D. Saddle Joint IV. Between
Humerus and
: Pectoral girdle
Choose the correct answer from the options
given below:
(1) A, BV, 11, D1
) AL BV, C-I1I, DI
% ﬁ-ﬁl, B, CII, DY
LBV, €, DIy
H6_Hmdi+English ]
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182

183

184

185

it 1) gl 10w gifer

T 1 T
(wfrrr) (rm)
o Oftem wfunt 1 g
B, g ot 1 S o
anfiafees 11, W ey
aikieaus At
D, fedfew 1V, At
Eakeaug et By, %
A % fim
A R T Pl § @ W TR T 7

(1) “AIL, B, C-IV, DIl
) Al BV, C-I, D-III

@) AV, B-lll, C-II, D

4) Al B, C-III, DIV

Pyt e gl Pagarae & I A1 9 R
3 4 g 7 Prefi & ¢ ]

oHO$
@ [0

M

® 0O

e @ o9 gwaT - X
(1) ardamcd + garee + &t - e
(2) e + gamedy +

@) emgarcdl + ot

) sdaedt + Someat + 2l + el

o [ @ g 11 & @ gt &1
B:c.0 g
- (dfr = ) (% 75 T T 3)
A ufe-gw 1 9wl w e
afyy FuE
B. dga e L FIeRds § QA
) Pzl BIeHA
‘ -
C. i | 1L STS & Fmdw o
, Yeradd & qEH
D. de g IV, e Td o
e & qe
3 fo o Rewi ¥ ¥ 98 SO @ T &

(1) A, BIV, CIL, D-lI
) A-l, B-IV, C-IIL, DI
(3) AL B, C-II, DIV
(@) AL BV, CL, DI

[ Contd..
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188

189
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Zoology : Section.p Q.

No. 186 10 200) |

6 Select the corpg

chordates. CUstatements with re

ference to

A.  Presence of g mid-dore i
e Wid-dorsal, solid and double
OSCNe ® elae N
2' {::‘tﬁt::;k of closed circulatory system.
= Fees ¢ of paired pharyngeal pillslits
D. Presence of dorsal heart L=
E. Triplobl

astie pseudococlomate

Choose the correet animals,

Given below: answer from the options
(1) B.Dand E on)y
(@ C.Dand E onpy
B) A,Cand D only
4) Band C only

4

Which of the
A.

7 following statements are correct?

tl,:‘(l)ld chgsswc loss of body fluid from the
Y swWitches off osmoreceptors.

ADH facilitates
ariinates water reabsorption to
prevent diuresis. -

d .
ANF causes vasodilation,
ADH causes increase in blood pressure.

ADH is responsible for decrease in GFR.

Choose the correct i
| answer from the
given below: oprions

(1) A, B and E only
2) C,Dand E only
(3) A and B only

4) B,CandD only

IOl

4

In cockroach, excretion is brou -
A. Phallic gland B. Urec%l;g agl;grl:cti i
C. Nephrocytes D. Fat body

E. Collaterial glands
Choose the correct answer from the options
given below:

(1) B, C and D only
(2) B and D only
(3) A and E only
(4) A, Band E only

Given below are two statements:

Statement I: During G, phase of cell cycle, the

cell is metabolically inactive.

Statement II: The centrosome undergoes

duplication during S phase of interphase.

In the light of the above statements, choose the

most appropriate answer from the options given

below:

(1) Statement I is correct but Statement II is
incorrect.

(2) Statement I is incorrect but
is correct.

3)

4)

Statement 11

Both Statement I and Statement II are
correct.
Both Statement I and Statement II are

incorrect.

2
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188
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HTE2 % v o why word w1 aUT FO

A, "y ';-'«ita, Ay vt Frehy A 5% #1
B, dn afrdaem d= A i 7

C. weh i ofren we ferl Ay grfrafa
D. Yy gra @ aufafy

B feafrm, gz qfra urf .
A fra o Pt 04 b gwown aE w0
(1) wam B, Dud L

(2) ¥am C,Dud £

(3) wawm A, Cud D

1) ¥%aa Bud C

ot

P 1 1 a¥n @ ot i

A, sl @ srarfts arhfts za w0 gE TN
mfedi & @z w Za ki ‘ _

B. qﬁvﬂwmﬂmmhﬂﬂsm
@ g g ¥l

C. quqmmfszamr{vrmh

D. qé’tqamaaifa;‘rwﬁm%u )

E. q@@aﬁ@mﬁm%ﬁqut

Y Ru o Rred § @ A sz 77T 20

(1) %aa A, Bud E
(2) ¥aw C, DT E
(3) %ada Awd B

(4) ¥aw B,Cwd D

fireraee ¥ e & 210 F E
A. i Tt B. @ I

C. W D. T4a1 fqg

E. sows ufaar

3 fa T Rl & § SR S S 9EE 34
(1) ¥a@ B,Cw D

(2) %@ Bwd D

(3) ¥aw Awd E

(4) 3@ A,BTWE

& wuw Ru o ¥ 5
FuA I: i 9% B G a1 § B

wqy ¥ faieea o %)

o I1: 2rEm siatraen 3 S WA § fxyer s1a
]

S e & et ¥, A g oy R ¥ § W@
IAC & TqH BN

(1) = 1 §d ¥ afe w0 11 swd ¥

2) w1 o ¥ et Fw 11§ ¥

(3) A w1 W 1w E

(4) I FyA 1 wd 1 o £

[ Contd...



1O0 \1;;(\~(| Paise T with Lise 11
| TR | Vst 11}
! Linlimited resonree

AL T opisnice
- ly‘nn\lh ' avaglability condition
sponential . Limied resonrce
availability condition

prowth
G l»\pmnhn;zl 11 Thd percent individonls
3 ape pyramid ol p(\*-n‘pnullu'ln'v
apc.is larpest (ollowed
by reproductive and
post reproductive
} aQe proups
. Stable agc 1V, The ::crc:'nl individuals
pyramid of pre-reproductives
and reproductive age
group arc same
("honsc the correct answer from the options
given below: (D
(1) A-II. B-1V. C-1. D-1I,
(2) A-Il. B-1V. C-111. D-1
(3) A-IL. B-1. C-l1I, D-1V~
4) A-Il. B-111. C-1. D-IV.>
191 Which of the following statements arc correct ?7
A. Basophils arc most abundant cells of the
total WBCs 20
1 B. Basophils secrete hista hine, serotonin and
heparin (o
C. Basophils are involved in inflammatory
1ey shaped nucleus

response
D. Basophils have kidr
agranulocytes

the options

Basophils are u
t answer from

E.
Choose the correc
iven below:
(g]) B and C only (2) A and B only
3) D and E only (CON C and E only
) ”/' .
in i yulation
rts of human bramll_rtllaa‘t'hclpsvm regu
o Zfl}zeﬁcaual behaviour, expx‘éssxon of excitement,
pleasure, rage. fear etc. lar‘q’ :
1) Brain stem & £ ithalamus 3
(2) Corpus callosum and_thalamus
(3) Limbic system & hZPlgtlaalz}mus Sepre
(4) Corpora quadrigemggg & hippocamp
193 Which one of the following is NOT an advantage
{ inb ing?
N Elmina  lesédesirable genes and
kes place

accumulation of superior gencs ta
due to it. o f
24 (2) 1t decreases the prf)ductivily of l{)ber
3 “’“Du\alion, after continuous inbreeding.

a) ‘\‘ t\:icrcfxscs homozygdsity.

C\'\m"::\):&,bd hg;n;:: 1;1 crsggssnvc genes
i

44
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(1) Elimination ©

¢
{

that are

190

191

192

193

mi r,rﬁ [T B ’]’"i’»h] E 248

U1
R e
A wispr s gt / Wit rtreriry
oy sremernt Ay
Hr1rery
. oAy gin 1 it rirerirn Ay
LRSI A Aprey
. agd any 11, orryd Ay
feryfepe (R A LA G T o
afsam 1 1 %
Foes A7 ATy
1ged HAATAL ALy o
AT¥ tA ’
D, ftar any 1V, s v Aty
et a1y aN % b
d1 ufasreAr oy
7Tz
Wﬁﬁiqﬂﬁqzrram‘ﬂ’ﬁf"o‘ﬁi

iy far 7y 2

(1) A-IL, B-1V, C-I, D-111

(2) A-ll, B-1V, c-111, D1

(3) A-1I, B-I, C-11I, D-1V

4) A-lI, B-11I, C-I D-1V

ﬁﬁﬁ@aﬁqﬁmmaﬁ%? o _
Z1 i et

B. adarfwd Feezitger, faden T 79 f=afe =1 ==
EaGIkd . L

C. adifwe snamd fr gfafmaneAl 9 | =T 5

D. Jaired g gah & A IEERRT:HT‘ = Zral 21

E. aaifee arepaTaITaTET 1l £ )

ﬁ%%qwqﬁrmm’fﬁaaﬁimﬁmmu

i (2) ®aa AT B

(4) Haa CTdE

1w S AnTE . Sue &

fyeisror HIAT
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196

The unique
)
)

‘ Mammatian characteristics are:
Wirs, pinna and indirect development

'\I““u. monoge “nd\ l
1¢ \l\n
glands I and mammary

(3) hairs, tympanic me

mbrane .
glands e and mammary

(4) hairs, pinna and m

ammary plands

Match List 1 with List 1.

Lis
. Mnt 1 List 11
A. ast wllf L Ciliated cpithelium
B. Inner surface 1. Arcolar
i ;1] bronchiole connective tissue
. B ood 1L Cuboidal epithelium
D. Tubular parts 1V,

specialised
connective tissue
answer from the options give

of nephron

Choose the correct
below:

(1) A-IL B-L, C-1V, D-III
(2) A-IM, B-1V, C-II, D-I
(3) -A-L, B-IL C-IV, D-III
(4) A-L B-II, C-, D-IV

Select the correct statements.

A. Tetrad formation is seen during Leptotene.

B. During Anaphase, the centromeres split and
chromatids separate.

C. Terminalization takes place during
Pachytene.

D. Nucleolus, Golgi complex and ER are
reformed during Telophase.

E. Crossing over takes place between sister

chromatids of homologous chromosome.

Choose the correct answer from the options
given below:

(1) A, C and E only

~(2) ‘B and E only

197

(3) A and C only
(4) B and D only

~ Which of the following is characteristic feature

of cockroach regarding sexual dimorphism ?
(1) Presence of sclerites
(2) Presence of anal cerci
(3) Dark brown body colour and anal cerci
(4) Presence of anal styles

4
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N
N
(2)
3)
(1)

o Pufsmrarg vmers weennfual @1 ¥ 7

. mwokamera o argarea nfvaia

aftman | Wnatsrareh warE qd @ ferat
0, e ude fuesty rd T it

O, motdeeta A v b

af 1 ay Il W v gAfaa w0
1;

LRI h 11

A. e miam, [, gy SR

B, yaufm w9, I, Ofravrs aaed
aitafs wan THE

C. T (D I, ==rwre 2w

D. gamsl-w v, fafore sl 2905
AferemTRTC AT

%ﬁqmmnnmmmmﬁ‘
(1) AL BE “C-1v, D-IH
(2)" A-II, B-1V, C-II, D-1
(3) A-l, B-I5C-1V, DAl
4) AL, B-m C-1, D-IV
‘."J

T8 Hul B @ad B

A. ages Fm agage ¥ e @

B. qsamm:ﬁgwq?ﬁ'gfaafzazﬁeeﬁt
TSI B €

C. wmueE ¥ ST el 81

D. ¥f, TeeE Td IR s § gF: a9

. W g N :

E. I olaD g9ea TUEal o 961 SOt

F 9= Tandl
:ﬁaﬁqmﬁxﬁﬁﬁ%w&sﬁammmwﬁt
(1) ¥aw A,(Cxd E
(2) ¥%aw@ B TE
(3) %@ AW C
(4) ¥aw B T@'D

wn
forer % A B AT
wEr ¥ 7
(1) mzﬁwﬁu&{
() traﬂ@qﬁﬁ
3) W‘{USTﬁTWT‘IQ_‘TTﬁ“W
(4) & gE A St

72 ) i frean &t faiir=
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jop  ufr WA gig mRNA w1 &1 Arer fray wray y
6 AUICGAUCGAUC GAUCGAUCG Agye,,
v qrm fryer N BRI T BT '

SCguence on

Which one of the following is the
i the sequence on

108
cormrespondmpe coding strand,
MRNA formaed is as follows
ST AUVCGAUCGAUC (3 . ALICO
AVCG A% COAUCGALICG ALICG e 7

) \v. ATCGATCGATCGATCGATCG (1) 5 ATCGATC GOATCGATCGATC
- ATCGATOG 30 ATCGATCG T
() 3T ATCGATCGATOGATCGATCG (2) 3 ATCGATCGATCOATEOATCG
” :\.l(. (L‘:\'(‘(f i ATCGATCG 5T
() 5 UAGCUAGCUAGCUAGCUA 3 (3) 5° UAGCUAGCUAGCUAGCUA
GCUAGC UAGC 3¢ ’ (-i('U/\(i(' UAGC 37
-1 3" &3 SCUAGO S ~(~ »
(4) 3" UAGCUAGCUAGCUAGCUA “ 3° UAGCUAGCUAGCUAGCUA
GCUAGCUAGC 5

GCUAGCUAGC §°
forsr A @ e argdies AT B P A gy

199

Which of the following are NOT under the

199
control of thyroid hormone?
A. Maintenance of water and el
z : zctrolyte
S s clectrolyte A.
B. Regulation of basal metabolic rate B. ans 5 el ?:rm:q l
C. Normal rhythm of sleep-wake cycle C. - ¥ ww !
D. Development of immune system D. wfycen o= &1 fasrdl!
E. Support the process of R.B.Cs formation E. onc.ddy. Prafor @1 el & drenfea ey
- . . . £ I
N frg g Rrepedt F § WE ITC BT TIT H7,

(1) ®awa C wd D
(2) %aw Dad E
3) ¥waa ATd D
(4) ¥=aw B @ C
200 dHepreT Aefr B Rrwm H T & HYT WE E?
A. Qofy d=er BT GdIS SHAs B UG F 53

a9 ¥ Rra duze wEd T
Fofr dig BT WIBTATHD ISFGAT HIeATH St

&1 HSTC TE T
C. cheprer Ul @ ardER R gl g AraEn
S % Fracer ke % BIROT S ¥ '
D. uH @l @ §FET & BrafeTh FHIE JAl S
% R FeitEY wed ¥
ﬁﬁ,mwﬁwﬁﬁwﬁaﬁammwwﬁl
(1) %aa A, Cud D
(2) ¥a@ C wd D
(3) ¥aa A, Bud C
(4) ¥awm Bud C e S
' [Contd;..

Choose the correct answer from the options

given below:
(1) C and D only
(2) D and E only 1
(3) A and D only
(4) B and C only

Which of the following statements are correct

2000
regarding skeletal muscle?
Muscle bundles are held together by

A.
collagenous connective tissue layer called
B.

fascicle.
Sarcoplasmic reticulum of muscle fibre is

B.
a store house of calcium ions.
Striated appearance of skeletal muscle fibre

€L
is due to distribution pattern of actin and
myosin proteins.
D. M line is considered as functional unit of
contraction called sarcomere.
Choose the most appropriate answer from the
options given below:
(1) A, C and D only

(2) C and D only
(3) A, B and C only

(4) B and C only
H6_Hindi+English | _ 46
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